EAGRAROBREERT — 2 N— ABISH —F

201951283280 (£) 5SEER#HIH

LN >xcme 1By52x (RS [E%l =8 [xml m | mewml — |2 (&) 1o
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 ™ ~ 33 :1,900,000 8 43 :1,100,000 @ 5 & :750,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
A~ . _ TEE
N  APEREEYER # o4 | BEE 1% L Rl el I B it
A4 TATv— B:aArhI > J—YTr—LA
N PN o4 | X8 1:36.0 1-10 [33.9| 94.0 | 2 458 | MAKERR (3EXR)
7l 3 IR A 57.0 2172 o | e
L—5—29 7 B:TFX¥HIINE— VED WL EIN
S = £ 3| EXH 1:36.1 3-3 34.5| 92.3 | 10 | 446 |=fEsE (RR)
3112 A4 397714 A - 56.0 (1/2) (-16) | AR
R:r—775>3 B:74Hh¥ N7 7 — L4
o= = 44 | SHEA 1:36.1 2-2 346|916 | 6 462 | BERM (EX)
417114 B—FZF%3 57.0 (7€ 2 | W) B-Ff-2557
Z:A—-KHp7+R7 B oy LA TATAT7—L
i 4t 3 | MR 1:36.1 5-6 34.3| 92.8 | M 472 | ARE (ER)
5(5/9 |74 =%—TL17 54.0 (757 ey |WBEA
R:Z2bhAXI)E2—> BHZ—FAHT— (B) #B3—-FKL—->ya3>@qE77
ST 4 3 | BERERA 1:36.2 7-8 34.2| 91.7 | 1 490 | MEER (RR)
6|818| ¥ M/ ¥ —F [B] 56.0 (7€) (+12) ) RS- XKD
:a—K$pF0O7 §:7O—KZRY—b paiutie
=3 5 43 | HAIBLF :36.2 12-14 | 33.9| 91.8 | 4 448 | EEFF (ER)
71510/ 7¥x—7 54.0 (NF) (-6) |=2=7-RL=32T (%)
RW—5—-2y 7 BLUXIT v b— TIAHT7—L
os A 4 3 | BEAK 1:36.3 5-3 34.6| 90.0 | 13 | 488 | WA= (=)
8 5|®U—-E>T) -2 A51.0 1/2) (cq) | ) ST 45Ty RR
R:TI79v 784K B:Y39/T773)— =R 7 T a vksit
ST — X € 3 | UEHE 1:36.4 7-6 345|895 | 7 456 | EERBE— (3ER)
o 1]1|FyIA=XTAI2A X (172) o | = H
LA TAT v — BiRkyd—XEY— Elize]
S 4 3 | ESEME 1:36.6 16-15 | 34.1| 87.5 | 3 466 | =E ER)
10 11| ¥ FIVT 1 EZR 56.0 A 1/4) () | B HITLYEITT 5747
R:27)—>ke—A— B:v1xKRI—I EvJLy RIT7—L
3 A B4 | EEBZ 1:36.7 12-15 | 34.2] 86.3 | 9 456 | AIET (BR)
12 777 5.0 (172 o | ETEA
R=5— 9T BAA4TIrT— PO b N
. . 43 | AKX 1:36.7 18-18 [ 34.0| 86.4 | 18 | 480 |MRARFZ (R3R)
12l 15| ®F 21— —A—X 54.0 (7€) o |PBEET
RYURYIYRIR BY MY =45
5 # 3 | BEHEI—BR 1:36.7 7-8 34.7| 86.0 | 15 444 | NEE (FRE)
130 g | FEX/HHYF 54.0 (NF) (41a) | FTAZL=ZE=2 ()
L:bh=—trhvwLRY B:xFhxEXFHNT L1945 77—14
S 4t 3 | MR 1:36.8 3-3 35.1| 82.8 | 8 400 | HAKERR (3ER)
148|17| 787 ~F R 54.0 (172) o) | B HEL-2AK-2
R:F1—TA2NN7 8 B:IVTLHR () #A—-KL—va>AET7 7
. . B ZEBEAN .37. — . . It (EXR)
15 4| Fe=TIr—u7 > 5| TR& (11317/40) 16-15 | 34.6 | 83.1 | 17 ;1_5; B,
R:F4—TA4>N7 8 BT/ F)-F> HAHHTT 7 — L4
o = B4 | BRFEA 1:37.0 12-11 34.8| 82.9 | 16 | 440 |HMIFFE (BR)
gl 7| ExT 1727 5.0 (N ) Gg | B EFHTu—g-x. 2=
F =T o b Bix4FA-x REBS
—: Ok — > 5 | BEED 1:37.2 12-11 [ 35.0| 80.1 | 12 | 442 |ABE (FF)
17/8{16| ©7 L F 7| Ao (1 1/4) (-6) | KB
L:ZFA4Td—IK B:7—U714v73IZb F—L—-TJv)Xr - T7—LERE
IR BB # 3 | BE® 1:37.2 7-11 35.0 | 80.1 | 14 | 490 |#uAFEE (ER)
1817113 &I Ry F 56.0 (F745%) R
R:F4—TANNT s BivMY1> HET77—L
@ 21 L
£y 46.4-34.2
NaO>a24 L | 13.1-11.6-12.4-12.1-12.2-11.4-11.3-11.5
® I—F—&EBIERL
13-7-
23—7F—
g =5r= 3,14(2,17) (5,9) (1,8,13,18)6(7,10,12,16) (4,11)15
Mal=5r= 3,14(2,5,17) (1,9) (8,18)6(7,13,16)10(4,12,11)15
[ N
B 3 1,310M 794K 3-6 800F & 2-3 2,800 &R 2-3-6 23,640
# B 3 330H 2-3 5,500 B E 3-6 2,180M EE 3-6-2 135,810
6 160 2-6 2,610 B H 3-6 5,450
2 970M

ABRICOVTHRTEEERROODE, THEB LS,




